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Part 4: Drag Coefficients and Cross-sectional Areas
1. Csand A at the moment of snapshot 4 (half-way between the end of thrust and apogee): Find the
following values for this moment in time, and enter them here.

a, 0.0l Approximate cross-sectional area (A) that Is exposed to the oncoming alr, in m?,
b. 25 2 _Current mass (kg)

¢ - %2 Current net force (N)
d. 7 Current speed (m/s)
e. 1.22 _ Approximate Air Density (kg/m3)
f. =084 Currentforce of drag (N)
8- 0476 Rocket's drag coefficient, based on the values above
2. Csand A moment of snapshot 7 (just before reaching the ground):
a Approximate cross-sectional area (A) that Is exposed to the oncoming air, in m?,
rent mass (kg)
% net force (N)
Currentspeed (m/s)
1.22 _ Approxithate Air Density (kg/m?)

Current force of drag (N)
Rockét’s drag coefficient, based on the values above
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